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Student Activity Book

Using Subtraction Strategies (SAB pp. 65-72)
Questions 1-21

A- Sub 10 Sub 9 Sub 8
Number Number sentence| Number sentence | Number sentence
16 16—-10=6 (16-10+1=7(16—-10+2=8
13 13-10=3 [13-10+1=4{13-10+2=5
17 17-10=7 |17-10+1=8{17-10+2=9
15 15-10=5 [15-10+1=6[15-10+2=7

B. The number in the ones place always stays
the same.

C. The answer for subtracting 9 is one more
than the answer for subtracting 10.

D. The answer for subtracting 8 is two more
than the answer for subtracting 10.

E. To subtract 10, the number in the ones place
stays the same. To subtract 9, subtract ten
first and then add one back because 9 is one
less than 10. To subtract 8, subtract ten first
and then add two back because 8 is two less
than 10.

Possible strategy: Hop back 10 to 3 and add 1
back 13-10+1=4

10
"v/_\

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

No; John hopped the wrong way and
subtracted one too many. So 17— 10+ 1 =28.

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Name Date

Using Subtraction Strategies

Using Tens
*1. A. Solve each problem below. Write a number sentence that shows your
solution.
10 9 8

Number Number sentence | Number sentence | Number sentence
16 16-10=6 |16-10+1=7|16-10+2=8
13
17
15

B. Describe a pattern you see for subtracting 10.

3

Look at the answers for subtracting 9. How are they different from the
answers for subtracting 10?

o

Look at the answers for subtracting 8. How are they different from the
answers for subtracting 10?

m

Describe the pattern you see in the number sentences in each column.
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Name Date

*2. Show or tell how you use ten to solve 13 - 9.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

*@3. Luis started to show how he used ten and the number line to solve
13 - 8. Use the number line and boxes to help Luis complete his strategy

below.
OOQ 1 took away too much.
I fook away 2 more
than T should have.
T have to put 2 back.
-10
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Two small hops forward and | land on D
15-8=[ ]
*®4. John solved 17 - 9 this way.

-1 -10

S

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
17-9=6
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Do you agree with John?

If not, show or tell how you would help John.
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5. Yes. Another strategy to check might be
Name Date 8 + 2 + 4 — 14‘

* @5, Frank solved 14 - 8 this way: 6. POSS]ble Strategy 7 + 7 + 1 — 15 SO, 15 _ 7 = 8

“| thought about addition. | know 8 + 6 = 14. So 14 -8 =6."

Do you agree with Frank?
If not, show or tell how you would help Frank. m

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

7. No, Natasha moved the wrong way. When 10
is subtracted, it is one too many.

*®6. Show how you can solve 15 -7.

B S s e e s e S e e e (SRS s e e ey e e . S —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 24 - 10 + 1 - 15.
Thinking Addition 8. Possible strategy:

v/ Check-In: Questions 7-9

*@m7. Natasha solved 24 - 9 this way on the 200 Chart. (\r_\(\

1 2 3 4 5 6 7 8 9 10 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
> 1] 12 15(,;4 15 |16 | 17 [ 18 | 19 | 20 9+1+10+4=24
<§ 21 |22 | 23 [(24) 25 | 26 | 27 | 28 | 29 | 30 9+15:24, so24-9=15
¢ e s lalsle—lalo ol 9. 7+3+2=12
2 24-10=14 T~
g 14-1=13 . —
£ 24-9=13 7+E_12
l:g Do you agree with Natasha? 12 —_ 7 =
8

If not, show or tell how you would help Natasha.
0. Possible strategy: 5+5+3 =13
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NN

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Name Date

*@®m8, Solve 24 - 9 another way.

*®m9, Yolanda solved 12 -7 this way. Help Yolanda complete her strategy.
She started at 7 and counted up on the number line.

+3 +2
5 T T S W S T SO N T S W R T R B S
<+t ¢+ttt ¢+ 111 1+&
01 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20
make ten
7+ + =12
N

*@10. Show how you solve 13 - 5.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Auedwo Bulysand JUnH [[epUaY| @ WBUAdOD
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Subtract 10 Subtract
Number Number sentence Number sentenc
22 22-10=12 22-10+1=13
25 25-10=15 | 25-10+1=16
33 33-10=23 | 33-10+1=24
37 37-10=27 | 37-10+1=28

B. The number in the ones place stays the
same.

C. The answer for subtracting 9 is one more
than the answer for subtracting 10.

Subtract 20 Subtract 19
Number Number sentence Number sentenc
22 22-20=2 22-20+1=3
25 25-20=5 25-20+1=6
33 33-20=13 | 33-20+1=14
37 37-20=17 | 37-20+1=18

16-10+[1]=7

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Possible strategy: 33 — 10 —3 =20
oo

15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

Possible strategy: 33 —10—-4 =19
yr ooy

15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35
No, Richard needed to take away one more not

add one more. Possible strategy: 33 — 13 = 20,
s033-13-1=19

Name Date

Using Tens with Larger Numbers

*@11. A. Solve each problem in the table. Write a number sentence that
shows your strategies.

Subtract 10 Subtract 9
Number Number sentence | Number sentence
22 22-10=12 [22-10+1=13
25
33
37

B. Describe the pattern you see for subtracting 10.

C. How are the answers for subtracting 9 different from the answers for
subtracting 10?

*®m12., Solve each problem in the table. Write a number sentence that shows
your strategy.

H

E

8

2

&

5 Subtract 20 Subtract 19
<

E Number Number sentence | Number sentence
H 22 22-20=2 |22-20+1=3
<

° 25

£ 33

g

s 37
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Name Date

*®13. Michael had a collection of 16 marbles. He lost 9 marbles. How many
marbles did he have left? Michael started to solve the problem below.
Help him complete his strategy. Show Michael’s solution strategy on

the number line.

Michael

Taking away 10 is
one more than T need
fo take away.

16-10=6

16—10+D=7

TR T R P S AN N N T S N R R P §
T T T T 1 ¢ T 1 T &
6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Y

v/ Check-In: Question 14

*@®m14. Show how you can solve 33 - 13 on the number line.

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

®m15. Show how you can solve 33 - 14 on the number line.

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

Auedwo Buiysiiand JunH 11epusyl @ JubuAdod

®m16. Richard solved 33 - 14 this way. “| know that 33 - 13 = 20,
s033-14=21."

Do you agree with Richard?
If not, show or tell how you can help Richard.
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Name Date

m17. Show how you can solve 30 - 19 on the number line.

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35
Thinking Addition with Larger Numbers

v/ Check-In: Question 18

*®m18. Carla started to show how she solved 30 - 17. Help Carla complete her
strategy below on the number line. She started at 17 and counted up.

A

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

make twenty

17+ + =30

NS
17 +D= 30

30—17=D

®m19. Show or tell how you solve 42 - 16.

A A 0t A 8 A R A, 08 A A
011 2 13 14 15 16 1718 19 20 21 22 23 24 25 26 27 26 29 30 31 32 33 34 35 3 37 3 39 40 41 42 43 44 45
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Name Date

m20. Show or tell how you solve 26 - 13.

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

W21, Fern started to solve 51 - 12 on the number line below. Help Fern
complete her strategy on the number line.

Can you show or tell a different strategy for 51 - 12?

Auedwod Busignd JUNH [[epuaY| @ JuBUAdOD
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17. 30-10-10+1=11

v

< | el o4 e o4

Y

<t T T & 1T T T 1 +¥1 1 1 1 & T 1T T 1T 1T T T T T
1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

18. 177+ 3 +10 =30;
N
17 +H 13 | = 30;

30 -17=|13

19. Possible strategy: 16 +4 + 10+ 10 +2 =42;
16 +26=42

15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

20. Possible strategy: 26 — 10 -3 =13

10

YYN—

1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

21. Extend Fern’s number line hops with
one big hop of ten to 52 and one small hop
back to 51.
12+10+10+10+10-1=51
12+39=51
51-12=309.
Another strategy: 51 — 10 -2 =39

FYN—""

35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55
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Kim’s and Suzanne’s Marbles (SAB pp. 73-74)
Questions 1-7

l. 27-10=17

T

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

2. 27-10+2=19

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
3. 27-10-1=16
v__‘/ﬁ

5 . S . By B Sy B

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
4, 17-10=7

01 2 3 4 5 6 7 8 9 1011 121314 1516 17 18 19 20

5. 17-10+1=8

Y

01 2 3 45 6 7 8 91011 12 13 14 1516 17 18 19 20

6. 17-10+2=9

0123 456 7 8 91011121314 1516 17 18 19 20
7. 17-10-1=6
v,,h

01 2 3 456 7 8 9 1011121314 1516 17 18 19 20

Name Date

Kim’s and Suzanne’s Marbles

S Homework NN

Choose one group of problems to complete.
Working On It! Getting It!

i I could use I just need
Can | Do This? some extra soJme more
help. practice.

Use facts | know to solve
subtraction problems.

*Questions 4-7 ® Questions 1-3

Solve each problem using the number line. Write a number sentence that
shows your solution strategy.

Suzanne has a jar of 27 marbles. Start each problem with 27 marbles.

®1. If Suzanne takes 10 marbles out of the jar, how many are left in the jar?

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

Number sentence:

@2, If she takes 8 marbles out of the jar, how many are left in the jar?

10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

Number sentence:

@3, If she takes 11 marbles out of the jar, how many are left in the jar?
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Number sentence:
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Name Date

Solve each problem using the number line. Write a number sentence that
shows your solution strategy.

Kim has a jar of 17 marbles. Start each problem with 17 marbles.

*4. If Kim takes 10 marbles out of the jar, how many are left in the jar?

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Number sentence:

*5, If she takes 9 marbles out of the jar, how many are left in the jar?

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Number sentence:

*6. If she takes 8 marbles out of the jar, how many are left in the jar?

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Number sentence:

*7. If she takes 11 marbles out of the jar, how many are left in the jar?

01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Auedwod Busignd JUNH [[epUaY| @ JuBUAdOD

Number sentence:
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